YacTHbIE cJIyqyad MmoJ0KeHHUS IMJIOCKOCTH B IMMPOCTPAHCTBE

TlooxkeHue II0CKOCTH U

[TosicHAOIUI PUCYHOK
BHJI OOIIETr0 ypaBHEHUS

Z
[InockocTe napasienbHa
KOOPAMHATHOM OCH
OX:By+Cz+D=0(A4=0) 4
OY: Ax+Cz+D=0(B=0) X
0Z: Ax+By+D=0(C=0) By+Cot D=0

[110CKOCTE MPOXOIUT YepEe3 HAYAIO
KOOpPJWMHAT

Ax+By+Cz=0(D=0)

Z
[T;mockocTh nmapannensHa 4
KOOPJAWHATHBIM OCAM
0Xuo0Y: Cz+D=0(A=B=0) f\/y
OXu0Z: By+D=0A=C=0) / >
OYuO0ZzZ: Ax+D=0(B=C=0) X

[110CKOCTh IPOXOUT YePe3 OCh
OX: By+Cz=0(A4=D=0)
OY: Ax+Cz=0(B=D=0)
0Z: Ax+By=0C=D=0)

YpaBHEHHS KOOPAUHATHBIX
IJIOCKOCTEN

X0Y: z=0(A=B=D=0) ¢
X0Z: y=0 (A=C=D=0) ¥
YOZ: x=0 (B=C=D=0)
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